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> Valence electrons from carbon atoms can
combine and ...
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... form covalent (molecular) bonds C—C or C,.
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When discussing some specific bond, we may omit
the rest of electrons, other bonds, and even ...
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A hydrogen atom H with one valence electron.
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- Free valence electrons from carbon C and

v hydrogen H atoms can combine and ...

S

L

)
)
)
)
)

N

\\‘_'[ &': \. \- k

S




T
C )
| -

o
T
(@)

(7p]
Ne

C

o
e

—
L
)
O
Q
o
£
i)
c
Q@
©
>
o
O
&
| -
O
G
..,
Y 3
' I YN o

R
o

ot

o el
o
o ot

=

=

o N

Y
-
\

N R

A\ A\

»

P A B B B

z
-
&

e
- 1 .

sk

e

—




S

il Wl Wl Wil W W vl N e N A N N N N N 3 a ™ o) - - v A
wi¥ ¥ W W W W ~ s’ i S ' — -’ - - e ~— - - - - -~ — - .- - e
B B B R e A carbon atom C and 4 hydrogen atoms H with 4 B
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If we replace one hydrogen atom H in a methane molecule CH, with a methyl group, CH

' (a carbon atom which has bonds to 3 hydrogen atoms only), we get the next compound
from the homologous series of alkanes: ethane, C,H,. We see that each carbon atom is
.

still surrounded by an octet of electrons and has 4 covalent bonds.
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